
1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D
SF Timber TeepeeA-NAT-2268

© 2024 THE PLAY COLLECTIVE ABN 28 101 472 619. THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF THE PLAY COLLECTIVE. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN 
PERMISSION OF THE PLAY COLLECTIVE IS PROHIBITED. ANY UNCERTAIN DIMENSIONS ARE TO BE CONFIRMED BY PLAY COLLECTIVE BEFORE COMMENCEMENT OF MANUFACTURING.

PN1447

SHT  1 OF 2

UNLESS STATED OTHERWISE - ALL DIMENSIONS ARE IN MILLIMETRES.

GENERAL TOLERANCES: DIN ISO 2768-mK

A3REV   

DRAWN

SCALE: NTS

CHECKED

BV

1/26/2024

ITEM N°

STOCK / LEGACY N° DRAWING N°

A-NAT-2268-001

PLANNED BY

PLAN DATE

MADE BY

MFG DATE

JOB N°

JOB NAME

DATE

DATE

Item Qty Hole Diameter Hole Depth

Timber Tipi
 Post 6 400 400

From Ground Level
Footing  quantities and depths

Note:
 

This product is designed has no softfall.

2773.2

Ground Level

4
0
0
.0

2
7
0
0
.0

2
2
0
0
.0

1386.6

n400.0

60
.0
°



SECTION A ( 1 : 7 )

2
M10 x 40mm Bolts (6)
m10 x SS Flat washer (6) 3

M10 x 100mm Galv Coach Screw (12)
M10 x Galv Flat Washer (12)

Top Bracket (1)

4
M10 x 100mm Galv Coach Screws (4)
M10 Galv Flat Washer (4)

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D
Timber TeepeeA-NAT-2068

© 2024 THE PLAY COLLECTIVE ABN 28 101 472 619. THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF THE PLAY COLLECTIVE. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN 
PERMISSION OF THE PLAY COLLECTIVE IS PROHIBITED. ANY UNCERTAIN DIMENSIONS ARE TO BE CONFIRMED BY PLAY COLLECTIVE BEFORE COMMENCEMENT OF MANUFACTURING.

PN1123

SHT  2 OF 2

UNLESS STATED OTHERWISE - ALL DIMENSIONS ARE IN MILLIMETRES.

GENERAL TOLERANCES: DIN ISO 2768-mK

A3REV   

DRAWN

SCALE: NTS

CHECKED

DE

1/26/2024

ITEM N°

STOCK / LEGACY N° DRAWING N°

A-NAT-2068-002

PLANNED BY

PLAN DATE

MADE BY

MFG DATE

JOB N°

JOB NAME

DATE

DATE

A

1. Mark and dig post holes as per post hole layout 
drawing.
 
2. Begin by roughly positioning the 6 posts in the 
footing holes and attach the bracket using the M10 x 
40mm bolts into the recessed captive nut in the end 
of each post.
Note:  This is only a temporary fixing to aid in 
alignment.
 
3. Once all posts are positioned correctly now 
pre-drill as and secure at least 2 M10 x 100mm coach 
screw into each post.
 
4. Now Position the center totem on top of the 
bracket then pre-drill and secure using at least 3 
M10 x 100mm coach screws from the underside.
 
Note: All holes must be pre-drilled as detailed.
 
5. Concrete footings and allow to cure for 24 hours.

Recessed Nut

M10 x 40mm Bolt 
& Washer

M10 x 100mm
SS304 Coach Screw

& Washer
2 per Post

M10 x 100mm
SS304 Coach Screw

& Washer

35.0
Pre-Drill all holes 

as detailed

95.0
n10

.0

8.0Ø


